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INSTRUCTIONS

i) Answers must be written in English.

ii)  The number of marks carried by each question is
indicated at the end of the question.

iii) The answer to each question or part there of
should begin on a fresh page.

iv)  Your answer should be precise and coherent.

v)  The part/parts of the same question must be
answered together and should not be interposed
between answers to other questions.

vi) Candidates should attempt all questions as per

the instructions given

% {PTNOn: soen
vii) If you encounter any typographical error, please
read it as it appears in the text book.

viii) Candidates are in their own interest advised to
go through the General Instructions on the back
side of the title page of the Answer Script for strict
adherence.
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ix) No Contmuatzon sheets shall be provzded to any

w x) Candzdates shall put a crass (X) on blank pages

~ candidate mdﬁf* any. czmumstances

 of answer Sarzpt

~xi) No blank page be left in between answer to
, - various que#tmns :

xw) No pmgrma&e Calﬂula?or is allowed.

| ;-;xw) No stencil (wz,th dﬁ"erem mﬁrkmgs) is allowed.
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: Dlscuss how the outbreak of the Second World War

a’s political science. In your view did the
_,s rmssmn resolve the pahtxeal cnsas inIndia?

ahatr Ganﬂiand PamhtNdml were interested

~ inth ",.’}_devclapmemefmdm,yetthelrappmach» :
'tothesamcvasﬂydlfﬁmd Explain. = . (25) ‘
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Answer any two of the following (in about 150 words
each) (2x15=30)

a)  What have been the observations of the Supreme
Court with regard to the Uniform Civil Code.

b)  What are the provisions regarding the protection
of Linguistic Minorities in the Constitution.

¢) Outline the advantages and disadvantages of
advancing the date of announcing the Union Budget.

d) How have India Nepal relations evolved over the last
three years?

Explain/answer any two (in about 100 words each)
; (2x10=20)

a)  Distinguish natural and cultural heritage.
b)  Contribution of Amir Khusrau
¢) RoleofIndian Diaspora

Write about 50 words each, on any five of the following
(5%x5=25)

a)  Aryabhatta

b) GandharaArt

¢) Henry Cotton

d) Independent Director
¢) Gandhi Irwin Pact
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b) What is the stgmﬁcancc of the Indo Japanése _

‘ nuclear:% greement of November 2016.  (25)

lanymof the fnllcwmg (about 150 werds cach)
L | (x15=30)

e ; Why does Indm wam to beccme a member of the

b) What 1s the s:gmﬁeance Gf the msolvency and

(7X5—35)
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Jallikatu

‘Canton Fair

Crop insurance

Rohingyas

Write briefly on any four of the following  (4%x5=20)

a)
b)

c)

d)-

e)

Cyber security

Digital payments

‘Blue chip

Causes of droughts in India

RESOURCESAT-2A

In 2014, out of a total of 17,500 workers in a factory,
12,000 were members of a trade union. The number of
women workers was 2000, of whom 1750 did not belong
to the trade union. In 2015, the number of union workers
increased to 15,800 of whom 12,900 were men. On the
other hand, the number of non-trade union workers in the
factory fell down to 2080 of which 1800 were men.

a)

b)

Represent the above information in a suitable tabular
form.

How many male workers of the factory did not
belong to a trade union in 2014? (20)
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S Answerﬁxefoﬂowmg ‘ b (2><10~20)

a) What do you undetstand by measures of central

5 b) Dlstmgmsh Harmonic mean s Gemne‘mc mean?

‘_Provxde a pxe dlagramim rf preser tthe fallowmg data

'Levei of sclwols e o s_‘f‘ﬂEnrohnmt(m lakhs\
' . 164.04
7384
D846, .
AP 20
(2*5*10)
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